Solutions sheet No. 30


Perimeter involving Pythagoras’ Theorem
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Find the perimeter of each of the following, correct to 1 dec. pl. where necessary; (HINT: Use Pythagoras’ rule to find missing side)





16 m





5 mm





5 mm





12 m





30 mm





30 mm





32 m





15 cm





30 cm





30 cm





10 cm





12  cm





45 cm





60 cm





60 cm





65 cm











20 cm





80 cm





25 cm





40 cm





15 cm





25 cm





23 m





24 m





30 m





4.9 cm





3.2 cm





2.5 cm





40 m





30 m





39 m





18 m





10 m





10 m





60 m





40 m





25 m





27 mm





24 mm





20 mm





40 cm





16 cm





16 cm





12 cm





18 cm





8 cm





4.1 m





2.4 m





8.4 m





18 cm





10 cm





9 cm





15 cm





9 cm





4 cm





6 cm





15 cm





12 cm





10 cm





24 m








